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y - . {5 marks)
. ’ ALTERNATIVELY,
sy
¢ 2+ 4 .
v — K3 - - 2 + 1
1 - 31 . Let a + bi T =31
.(fz_*;;g_: 34). M| (a*bi) (1-31) = 241
i D (a+3b)+(b=3a) 1= 2+i 1A
- a+3b = 2 M
. . - =L+ 71 1A tp3a=1 1M
10 1A )
" EEREN : a=-1g 1a
= .._1 + —Z— i - 1A 7 .
HONG KONG EXAMINATIONS AUTHORITY 1o 10 b= 1o 1A
—AASEFE S E a3 § 3 (5 marks) ALTERNATIVELY,
HONG KONG CERTIFICATE OF EDUCATION EXAMINATION, 1982 , ¥ ay : Y 4 1M
ot [ DI x-y ¢
x+y _ . N IR
. 4 16 ; /'1 : ;(. - oo
) . . x-y=1 Do, /TA 42y=l; 1A
. - x+y=2 ; 1A \1 2y = 1 1A
: ! 1
Solving, LM y =7 1A
. L ’ el 1
MATHEMATICS (SYLL 1) : x =15 1A x =15 1A
y = _; 1A
, MARKING SCHEME
(5 marks) ,
P’ TN 2x? - < 36 P PR
N I N : 2x2 - x -36<0 1A A O A
(2x - N(x+ 4L 0O -2A__ | For factorization. &
2A 4¢x T ﬁ S
This is a restricted document. N o ) Accept { . I A
,,,,, - - e —
, It is meant for use by markers of this paper for marking purposes only. ' - T ' < 2 1
) Reproduction in any form is strictly prohibited. N = "4 ¢x and x < 4 5 "
P (6 marks) *
” LC = 90°
! A R
tan / BOC = 263 o ;’,: ot T / )
1 -
4 Y '
- N T o
oTEERT® RFRFT N £BOC = 30° or-| 1A A
Hong Kong Examinations Authority ‘ ) U — -
All Rights Reserved 1982 AR o R
. ) B 25 C ‘ R L = )
- 2 30 1 2 T T =0
Area of sector = JT(6)% x 360 or = (6) 3 1IM+1A
- R ’ = 37 1A
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SOLUTION STEPS S NOTES
T3 (6 marks) -
* 2¢in?0 + 5sind - 3 = 0 8. (a) (10 marks)
(25in® - 1)(sin® + 3) = 0 1M+1A ] 1M for attempting to -
~ '1‘ Y e factorize Ac? ’2‘22"' x? 1M For Pythagoras' Theorem
sin® = 5 or’ sin® = -3 1A For sing = 7 o
2 . 2 2 .
Rejecting sin® = -3, 1A If a cand. writes sin® = - AB - ‘;Cz : Bg M For Pythagoras' Theorem
only, award 2 marks. N x y '
. 2 2 o g2 )
@ = 30° or 150° : 1A+1A| Accept 6 = 30°, 150°. 2x° +y 9 1A
= ° ° .t
or © 30° and 150°. 8x + 4y + 9 = 69 1A . e
General solution, no mark i.e. 2x + y = 15 >
1f more than 2 answers given, deduct 1 mark for each wrong answer from the marks N
Sub. =15 - 2x in 2x? 2 -9 T - DU .
obtained in the answer only. Ziz + s -x2x)g . gl *ty 9%, ii 2 (I ,:e:h..\\,:/.,, 2. TN
6x* - 60x + 144 = 0 2
2 -10x+24=0 1 ' i
6. (6 mark x A :
(6 marks) . G- (x-6) =0 — — | | -
(3) (lr 3)) (3) 1): (2| 2) . | x=4 or 6 ’ > = : T4 P M 55(({4"
Probability = 3 o 1A For numerator .o : 4T 70l S
t4 36 T —= 1A | For denominator , x =4, -
1 YT S ‘ane 4 1002 0,5.;,';?1?) . y=7. 1A For both values
=12 S~ ’ T
TS P . X =6
) (1,1, 1, 2), (2, 1) ' : . y = 3 } 1A | For both values
3 1A¢ | For numerator :
Probability 36. - 1A For denominator
- L ALTERNATIVELY, :
12 15 -y
s 2 2 g2
(c) Probability = 1 - T;- - 1—; —_———— | 1M Sub.  x = 2 in 2x% +y 9% s ——— | In
-2 1a ' 15 - y12
27 +y? =92 1A
ALTERNATIVELY, .
(11 4)) (1; 5): (1) 6); ere s (6) 6) yz - 10y + 21 =0 - 1A
30 — ’ 1A For numerator
Probability = 36 — 1A For denominator G-3G-7n=0 P 1A
5 . .
- = e ) y=3 or 7
e .
If answer not simplified, deduct 1 mark for the whole question. y=7,
- wmtas D du L o ox =4, . 1A For both values
7. (6 marks) . ) . ALTERNATIVELY, . y =3, i
(a) x = 360 x vl IM | put x= 2k x = 6. 1A- | For both values
y =7k, z = 3k,
= 60 - 1A 2k + 7k.+ 3k = 360 ——:
y = 210 1A (b) (2 marks)
z = 90 1A ¢ .
12 _ cos@ -:B&T? or tan@ --A% or siné Y 1M
(b) Total number = 240 X =5 IM ALTERNATIVELY, B AB . .
No. in Kowloon = 840 — 1. ' L N
= 1440 1A No. in N.T. = 360 T cosb = —; or tan@ = j% or sing = _j3_g. oo ose ! 73
: 5 SRS 7
Total no. - o~ R p N -
= 840 + 360 + 240 =39 1a TR PP
= 1440 —m—mmmm™™™
v 9
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SOLUTION STEPS MARKS NOTES
9, (a)‘ (6 marks) 1 - Z - :-
. A F Area of AOAB =5 % 1 x sin60° —la
e PR N T S e -
N VA B I R A
) % < =
£ Area of hexagon = 6 xJZ nr: .
- A
8 E7E} Aditestr
2 =] la.
2 8
' s . ALTERNATIVELY,
[ D ~ P
L ABC = 120° - AC?=12+12-2x1x1xc0s120°
1 IM+1A
8 5 AC = c0830° ——— | 1M+1A: Ac
/ ! IE3 .| oF——— = 1M+1A
=5 sinl20° sin30°
A < AC = 3 1a* | AC = [3 1A
ALTERNATIVELY, -
Area of AABC = —; x 1 x 1 x sinl20° 1A
. 3
A
Area of hexagon = 2 x Area of AABC + Area of ACDF IM
- = 2 xE +1x[3
33 .
- == 1A
A F
(b) (1) /_BAC = 30°, ., [ APB = 120° Y
: £.BPQ = 60° "o
Similarly, £ BQP = 60° L
ABPQ is equilateral 1 B E
PQ = BP = BQ
But BP = AP, BQ = CQ Q £
BQ = — Ac 1M k
3 - %
: = .iz ) 1A
| 3
! (11) ABCDEF and PQRSTU are similar ALTERNATIVELY,
i - Area of PQRSTU _ (gg)z w |
; Area of ABCDEF AB Area of APQR
£ i
, Area of PQRSTU = 5= {13 - x %x %x s1n120° 1.
: = Lg 1A Area of PQRSTU
= 2 x APQR + area of PRSU
ALTERNATIVELY, 1
Area of AOPQ = —;x%— xI%-' sin 60° ——— | 1A = % 1-
' . 3
12
Area of PQRSTU = 6 xg— 1M
- l:i o7 1A
2
¢
A

|
|
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(a) (6 marks)

(1) Multiples of 3 :

(b)

Last term = 999

1
No. of terms = 3 X 999

= 333 ~
Sum, Sl = _n_ {a +2] ori‘- [2a +(n - 1)d]
- 23- (2(3) + (333 - 1)3] or
'333 (3 + 999]
= 166 833
(ii) Multiples of 4 :
Last term = 1000
No. of terms = %x 1000
= 250
sum, S, = 2324 + 1000]
A- 125 500
(6 marks)

Multiples of 12 :

Last term = 8} x 12

No. of terms = 83

Sum, S‘

83
- S 2
3 2[124’83::1.]

= 41 832 -

1+2+3+ . +1000

- mo—[l + 1000]

54-

= 500 500

Required Sum = SA - Sl - S2 + S3

= 500 500 - 166 833 -
125 500 + 41 832

= 249 999

14

M

1M

1A

1A

1A

1A

1A

1A

M

1A

If a cand. writes
Required Sum =

SQ-SL—SZ'

award IM.
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il.. (a) (& marks)

Let oL ,

B be the roots of x2 - 10x+k=0

(1) «L+8 =10
OA + OB = 10

(1i) AR =k

OA x OB = k

(b) (4 marks)

(1) OM + ON = % (0A + 0B)
1 - 5
i 1 1
i (i) OM XON = —EOA x—Z-OB
: ok
4
(c) (4 _mafksj '
(1) From (b), -p = OM + ON
p=->
r = OM x ON
-3
4
T (11) oM = 2,
ON = 3
k
T - @®
k = 24
ALTERNATIVELY,
OM = 2
M= (2, 0)
o . K
! Sub. in y = x - 5x +
| 0= 4-10 +lZ-
|
k = 24

1A
1A

1A

M
1A
1M

1A

1M

8.1

1M

1A

1M

1A

-

or sum of roots = 10

or product of roots = k

e ‘y-lu’

Hat‘xs. I (Syll 1)
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12. (a) (7 marks)
Y = kx or ;__‘,-,ngxz o 1M
P=Y+2 ,;‘\«'-"?)‘ PR
= klx + kzx 1M
- 2
80 000 ZOk *+ 20 k2 1A (for either equation)
- 2
87 500 35k1 + 35 k2
"Solving, 1M p
k1 = 6000 1A
k2 = ~100 1A
P = 6000x - 100x?
When  x = 15,
P = 6000(15) - 100(15)2
= 67 500 1A
(b) (3 marks) .
P = 6000x - 100x? c: s (mo’"
= -100(x? - 60x) ’e*‘*}w’-k”*23‘°>"°‘ -¢
= -100[x* - 60x + 302 - 3VV02 —_——] 24 For the method of
= -100[(x - 30)2 - 900] completing square
= 90 000 - 100(x - 30)?
a = 90 000 :
b = 100 1A All three answers must
c= 30 . be correct.
(e) ‘ (2 marks)
When x =30, P is a maximum, IM+1A
] H
N
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Accept column or
IOW vector notation

Missing of """ for 3 tim
or more, deduct 1 mark fo
poor presentation

For evaluation of
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SOLUTION STEPS MARKS NOTES / LY \ SOLUTION lST\E‘PS' = ”Dl’ﬂm NOTES
3., Ca) (3 marks) - - 14.  (a)" (4 marks) '
Centre = (0, 7) 1A »r’:{j‘q.jl( 1™ : 'AB = QOB - OA M
" Radius = 3 A 4 +-tA / . N
= GT+4DN-T-D
(b) (3 marks) : - 271+5 3 4 1A
Slope of L =—g— —_  — -
3 CD = 0D - OC M
slope of L' = ay 1a - - N -
., y-7 3 ; = 9i+59)-(31-413)
Equation of L' : x-0 - "% 1M } — -
i = 1241+93 1A
3x + 4y - 28 =0 1A . o -
(¢) (3 marks) Gl (b) (4 marks)
o ma T -
Solving L and L', Ml e B = 122 + 92
Point of intersection = (4, 4) 1A+1A| 1A for each component = 15 1A
S -
: CcD
W o= 2M
] (d) (3 marks) 1 [eB]
. Lt -
’ [YREL 1 - —
Distance between (0, 7) and (4, 4) - I (1214 +9 ) 1A
| - J16+9 RS,
i -5 ' 1A° or ?i + —5-3
Shortest distance between C and L
= 5 -3 1M (c) (4 marks)
! = 2 1A - - —_ —_— b— 3
| W) ABed = QU5 ET D)
ALTERNATIVELY, - 2 x.;: +5 x% 1
- - dot product
Distance from (0, 7) to L = 40 -3(0) - 4 - 4_2_ 1A P
[3274 42 5
= 5 1A iy
! ‘ (11) lAE I = lAB l cos /_BAE 1M May be omitted
Shortest distance between C and L i
= 5-3 1M - AB- o
- 1A
? - ai 1
] " N A
ALTERNATIVELY,
. ALTERNATIVELY,
Solving L' and C, 1M
12 26 . Equation of CD : 3x -4y -7 =0
Points of intersection are (‘E ,-7;) 1A Equation of BE : 4x + 3y - 24 = 0 1A
4 ‘ ,
and (._. % . ['—5) Solving,
: g- (L2, 4
”
Distance between (E s -2-6°) and (4, 4) ] 25 * 25
5 5 3 .
AE = 4 1A
- 2 1A
‘\ ’ !
: N~
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